
www.zillarac.com 720.880.6700

 

 

M
A

DE
IN U.S A..

One or more patents apply to this product including without limitation: US Pat. 8,448,405; 8,479,455; 8,661,765; 8,689,517; 8,707,654; 8,707,655; 8,752,338; 
8,833,032; 8,833,033; 8,869,490; 9,068,339; 9,106,023; 9,473,064; D415,847; D617,174; D636,656; D639,143; and/or D639,144.

v050818

Ground Mount Truss
Assembly Instructions

2 Bolt assemblies together using  
3/8”-16 Lock Nuts and 3/8”-16 x 

2-3/4” Bolts. 
3 Tighten ALL nuts and bolts to  

17 ft-lbs.

Tools Required: 
•	 Torque wrench with 9/16” socket
•	 9/16” wrench

Items Included: 
•	 Upper Truss Assembly
•	 Lower Truss Assembly
•	 (3) 3/8”-16 x 2-3/4” Hex bolt (zinc)
•	 (3) 3/8”-16 Serrated Flange Lock Nut (zinc)

1 Identify Upper and Lower Sub-
assemblies and align end of rails to 

brackets matching red, blue and green 
color coding.

Assembly Steps

Upper Assembly

Lower Assembly


